'DESIGN
MATHEMATICS

L Weightage to Learning Objectives :

Objective | Remembering and Understanding Application Skills _i'b-r:{-_x
Suggetive 4 28 8 8
marks

T

II. Weightage to form of questions
Form of Ques. | MCQ/(AR) CBQ SA-1 SA-2 IA Thta)
No. of Ques. 18(MCQ) 3 5 6 4 "
+ 2 (AR)

Marks Allotted 20 12 10 18 20 9

III. Scheme of Sections :
Section ] (MCQ+AR) : 18 (MCQ) + 2 (AR) Questions : 1 Mark each

Section II (SA I) : 5 Questions : 2 Marks each
Section III(SA II) : 6 Questions : 3 Marks each
Section IV (LA) : 4 Questions . 5 Marks each
Section V (Case Study Based Questions) : 3 Questions  : 4 Marks each

(Each having 3 sub parts as (1+1+2)*

IV. Scheme of Options :
No overall option, only internal choice in 9 questions.

In each case study based question there is a choice in the fwo-mark
question.
2 questions in Section II

2 questions in Section ITI

2 questions in Section IV
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(1)
(2)

(3)

Weightage to Difficulty Level :

Difficult Questions 16 marks 20%
Average Questions 48 marks 60%
Easy Questions 16 marks 20%

Abbreviations used :

HOTS Higher Order Thinking Skills
CBQ Case Based Questions

MCQ Multiple Choice Questions
LA | Long Answer Type

AR Assertion-Reasoning

SA1 Short Answer Type 1

SA 2 Short Answer Type 2
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MODEL TEST PAPER-I
CLASS-VIII (2024-25)
MATHEMATICS

. _-—-"“--..
Time allowed : 3 hours Maximum Marks ; g, |
—

General Instructions:
1. The question paper consists of five sections :

* Section I : Question No. 1 to 20 are of 1 mark each (18 are MCQ Typ,

and 2 are Assertion-Reasoning type questions).

® Section II : Question No. 21 to 25 are Short Answer Type-1 questions

of 2 marks each.

* Section III : Question No. 26 to 31 are Short Answer Type-2 questions
of 3 marks each.

* Section IV : Question No. 32 to 35 are Long Answer Type questions of
5 marks each.

* Section V : Question No. 36 to 38 are of Case Based questions. Each
case study has 3 case based sub parts, two are of 1 marks each and

third sub part is a short answer type (2 marks) having internal choice.

2. Please write the serial number of the question before attempting it.

3. In questions of constructions !gmph; the drawing should be neat, clean

and exactly as per given measurements. Use ruler and compass only.

4. All questions are compulsory. However, internal choices have been givenin

.some questions.
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Mﬁf?r:

Wi U7 & 5 @ &

.

4.

Ge 14 ¥ 98N | & 18 aF wglawodia yeq & q w7 qew 19
20 SYFYT-FR Y99 81 T T TF AqF F Bl
eIl § Jv7 9@ 21 @ 25 oy IHT vER-1 & g7 &, fod @
TAF F 2 HF B

@e-1I1 ¥ ¥97 Y& 26 ¥ 31 @y ITNT FIR-2 F WA 8, fo7H @
TF # 3 HF B

G-IV 4 w97 &7 32 § 35 3 sod7 w7 & ford @ gw & 5
% & |

g=-V ¥ gy 9@ 36 § 38 F9 @ T w7 8 v F9 =L
5 3 g omifig I9-9 &1 59 @ § @y suig 1-1 dw & & ik
Fraw F99rT wE qhre 3909 2 HF @1 W & fowd smaieE fawey
Bl

FUA YT F FAE FE & B WA A & AR 8 W wew fod)

FeRTIE & e 7 g7 Ge-gud sk R T 519 % sgeR g
wow ot Fu@ &1 & ¥ET & |
s gy afErd & g9 A 4 siai® fawey fig mw o #
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Section-A ( @s-I)

1. The value of /45 x V20 i8
-Jtl_ﬁx‘jﬂ_{]a'ﬂqﬁ%'_

(a) 18 (b) 30
(©) 20 (d) 60
-192
2. a1 equals
- 192
3 -
o & aE B
_5 e
(a) 3 (b) 3
3 . 13
(e) 3 (d) 9

3. If 6°* = 1, then the value of x is
I 64 =12 @ xF AW B-
(a) 1 (b) 2
(c) 4 (d) 6
4. x is inversely proportional to y, then find the missing value.
% y % FHEATE B, W gD W ww i

x 4 3

¥ 6 ?
(a) 8 (b) 6
(c) 6 (d) 4
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The marked price of an article is 7 80 and it is sold at ¥ 76, then
the rate of discount is

% T FOAKRT T 80 79 ¥ R W 76 vd H A= wiar €, W
#; W 8-

(a) 5% (b) 95%

(¢) 10% (d) 11%

~ x° — 144x is same as

- 14dx F TR B

(a) x (x — 12) (b) x (x + 12)
(e) x (x — 12) (x + 12) (d) x (x — 9) (x — 16)

. x* — xz + xy — yz is same as
xa—xz-{—xy—yzﬁ? q{EL %—
(@) (x —y) (x + 2) (b) (x —y) (x — 2)
(¢) (x +y) (x — 2) (d) (x -y (z - x)

The number to be added to polynomial x2 — bx + 4, so that (x — 2)
is factor of the resulting polynomial is

TR 12 — Bx + 4 H WE I A 7w R (x - 2) W ageg
w TREE ¥, 2-

(a) 5 (b) 4

(e) 2 (d) 1
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9.

10.

11.

n 3
If "‘%‘*%—‘-21, then n is equal to

2
n 3n bn B
_2' —4— + "6— = 21, Fﬁ n {{El %
(a) 30 : (b) 42
(c) 36 (d) -3

In the given figure PQ Il RS and [/ is a transversal, then the value

of x is

qd T g d PQIRS sk I ww fids T 2, @ x 1 AW -
!
(a) 10° /
. P S Q
(b) 30 x/@/;,
(c) 20° .
R
o ]

In the given figure [ || m || n, the value of x _
AR AFfa | E||m||n,x-yT:Fr oq #—

(a) 20° <«

one

¥y 18

(b) 50°

(e) 160°

»

(d) 5°



-

9. The measure of x i
n the given fi
1gure is

& T T H x F AW 8-

(a) 38°
(b) 80° ‘,»"C
(e) 70°

(d) 60°

\J

13. Which of the following statements is not true ‘?‘
(a) Opposite sides of a parallelﬁgram are .equai
(b) Diagonals of a rectangle are equal :
(¢) Diagonals of a rhombus are equal‘

(d) Each square is a rhombus.

frofefar 4 @ &F @ ¥ T 8-
{a]wmﬂﬁaﬁmmmﬁ?ﬁil
(blwm$Wwﬁ§|
(c]wmﬁaﬂiﬁﬁﬂfwﬁﬂﬁ'l
{d}maﬂtﬁm@ﬂﬂmii
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14,

15.

16.

17.

: io of their
Two cubes have their volumes in the ratio 1:27. The ratio o
surface area is

ﬁmﬁﬁwmammlﬂT%IWmemﬁ_

(a) 1:3 (b) 1:9

(e) 1:27 : (d) 9:1

The number of coins each of radius 0.75 cm and thickness 0.2 cm,
to be melted to make a right circular cylinder of height 8 cm and
base radius 3 cm is

0.75 ¥, = 3k 0.2 9. wieré art fort 3t W, fo= et 8 9.
FAR AR 3 W MR B an wh @ g€ e S 9 R, -
(a) 460 (b) 500

(ec) 600 (d) 640

The number of times a particular observation occurs is called its:
(a) Range (b) Frequency

(c) Class limit _ (d) Class mark

et fde st & W @ W e 6 4, T

(a) uftet (b) SR

(c) = (d) = fagw

8 cards are numbered as 1, 2, 3, 4, 5, 6, 7,8 respectively. They are

kept in a box and mixed thoroughly. One card is chosen at random
The probability of getting a composite number ig '

8 gdl W HHW: 1,2,3,4,5,6,7,3%{;@@@1?@%
taﬂtmmﬁﬁx@mmtlmmwmﬁﬂmil
s fafye W@ W 'R # dwEe -

(a) (b)

N A
|~ oofc

(c) (d)
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18. The area of a trapezium jg 180

length 17 em and 23 cm respecti
is

cm® and its parallel sides are of
vely. The height of the trapezium

ﬂmméﬂmlaﬂaﬂﬁtﬁ.aﬁmﬁmgmﬁaﬁMW:
17 9. ST 23 W ¥ wweiw # s A

(a) 7 cm (b) 9 em

(¢) 11 em (d) 13 em

Direction : In question numbers 19 and 20, a statement of Assertion

(A) is followed by a statement of Reason (R). Choose the correct
option out of the following :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(b) Both Assertion (A) and Reason (R) are true but Reason (R) is not
the correct explanation of Assertion (A).

(¢c) Assertion (A) is true but Reason (R) is false.
(d) Assertion (A) is false but Reason (R) is true.

m'ﬂmwaﬁtzoﬁ?ﬂﬂqa‘fwﬁqwt—l{maﬁm{m
aﬁtwaﬁm(R)mw%lﬁﬁqﬂqﬁxﬂﬁ?(a),(b},(c]
W (d) & T wwA & WE I W A WA :

(a) Mﬁmﬁmﬁmﬁﬂwmmﬁﬂﬁmwﬁl
(b) sfqweq sin Fwo <T@ ¢ AR FRO SAfvEweR @1 W e @
’ @ 2

() sfumem wa & AfFd SR FEd 2

(d) sfamem ora & dfed #EA T E
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19.

20,

21.

RSN T L S L s 1 LWL

Assertion (A) :

6
6
6
(%] } is the reciprocal of 2%

Reason (R) : ™ , y " _ , ™0 .

6 6
AfawgT (A) : {[%J] 1 FwH T
FRUT (R) : x ™ o p P _ pmn

Assertion (A) : A side of the square with area (9x* — 24x + 16)

square units is (3x — 4) units. i

Reason (R) : Area of a square of side a is a®.

ATTFET (A) : (97 - 24x + 16)) =1 T st et &1 &1 UFH oW
T (3x — 4) =R

SR (R) : &1 o 96 1 & &9Fa o B

Section-II (@s-1I)

10 s
If 5 38 -3"" =81, find the value of x.
}
10 .« -1 .r.
Hﬁ{?xS—E zﬁlﬁ,ﬂ’lxﬂa‘lﬂﬁmaﬁ'ﬁqi |
OR ( atvar)
If 8172 + (729)'™ = 9%, find the value of . »

4

g 8172 + (729 = 9%, @ x ® WM Fg Fifir
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22. Simplify = (a® - p2) (42 , b?) —

({12 _ bE)E
@ PN (0% - 67) (a2 4 b2y _ (g2 _ g2
OR ( 217at)

2 1 _
If @ +;§‘23= find the value of a+—1—.
a

. . 1
g @ +u2“23'3.?ﬁ at— F AN FW Fiw

23. In the given figure, ABCD is a rectangle. If the length of diagonal
AC = 2 (32-23) cm and diagonal BD = (64 — 4z) c¢m, find the value
of 2. Hence find AC.

d m ampfa 4, ABCD @ sd #1 ARk fawl AC # wward
2 (3z—23) ¥t ait fawul BD &1 onar (64—42) 99 ¢ & 2 F1 §H

T #ifsw s §, AC @ Sifag

D . C
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24.

25.

e}
t

20 of

Find the co-ordinates of the points A, B and C. Find the co-ordinates
of fourth point D such that ABCD becomes a rectangle.

fag A, B 3t C & fiwis wm =ifwy e fag D% Flwis 9@ 30
fsgg ABCD & #@d €4 WUl
The given pie chart depicts the modes of transport used by the

students to commute to school from their residence. If the totd
number of students are 3600, find |

(1) the number of students who commute by bicycle.

(2) the angle of the sector that represents students who commy®
by school bus.
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fen ™ 9T B gm e o @
1 foemem sm-ww & fau smm fau
ﬁmﬁfﬁ*ﬁaﬁmﬁﬁﬁﬁﬁmaﬁmiﬁ

(1) TEfFE ¥ I FE A v H® "

(1)?%@Emﬂﬁw,ﬁiﬁmﬁuﬁwﬂaﬁ—aﬁaﬁmﬁﬁm
|

(Fe)
Walk ()
10% Van
25%
(T =1 @\)
School Bus (awfwa)
40% Bicycle

20%

Section-11I (@s-1II)

26. If aﬁx_ 4 3{_3‘1‘_ 3 a27x = 1, find the value of x.
729 729 H832
27x
d x | o/8% |3 _ 1 & @ % WA W@ i
W V729 * {720 5832

OR ( 3794T1)

Find the least number by which 1372 must e ipiind, 0. Rt Pt

product is a perfect cube. Also find the cube root of the product so

obtained.
ot e wen i SR Rt 187273 T PR S e e W
T w @ T R W9 i R . |
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27.

28.

29.

In a camp, there was a food provision for 120 men for 200 dayg, At
the end of 5 days, 30 men were transferred to another camp. H,,

long will the remaining food last for remaining people?

o frfR & 120 A & forg 200 fAl & fow SIS FOANI WA 5 fy
#mﬁgowﬁﬁ@imﬁiﬁwmﬁﬁaaﬁﬁmwrﬂqaﬁ%m
Fo g S fEe WEE AE SO’

The perimeter of a parallelogram is 160 cm. One of its sides ig
greater than the other by 30 cm. Find the length of the sides of the
parallelogram.

TF T wgds #1 9RE 160 O @1 TESI THF e I@d W 30 wH,
SE1 8 "OR Sgds ®1 geisi &1 @9 9| FHie

A closed metallic cylindrical box is 1.256 m high and it has a base of
radius 35 cm. If the sheet of the metal costs ¥ 80 per m?. then find
the cost of the material used in the box.

UF 9% U F1 doER fesn 1.25 dex w € iR oy emuw 35 9
fen &1 %1 aft wig #1 vie %1 @rm 80 TR wh A i ¥ q e
q WE i arm we it '

OR ( a19ar)

The diameter of a roller 120 em long is 84 cm. If it takes 300

complete revolutions to level g playground, determine the cost of .
levelling it at the rate of ¥ 5 per square metre.

120%.@@%%%84%.%4#&@3%%@%*‘{

ﬁsﬁaoomwmm%,ﬁsmmaﬁqﬁaaﬁmﬁ?@
HAOS F & e fuif
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30. The weights (in kg) of 35 persons are given below :

31.

43, 51, 47, 62, 48, 40, 50, 62, 53, 56, 40, 48, 56, 53, 50, 42, 55,
52, 48, 46, 45, 54, 52, 50, 47, 44, 54, 55, 60, 63, 58, 55, 60, 58, 53

Prepare a frequency distribution table of equal class size using class
intervals 40-45 and 45-50.

Find the class mark corresponding to the maximum frequency.
35 Afwal 1 & (fhm. o) 99 fem w2

43, 51, 47, 62, 48, 40, 50, 62, 53, 56, 40, 48, 56, 53, 50, 42, 55,
52, 48, 46, 45, 54, 52, 50, 47, 44, 54, 55, 60, 63, 58, 55, 60, 58, 53

TR T AW AR - 40-45 SR 45-50 B TET W U T
SICARAl WU SR HfvFen aRmwa % ey @ faed 3| i

For a square, we have Perimeter = 4 x side of the square. Consider
the relation between perimeter and side of the square, given by
P = 4a.

Draw a graph of the above information (Take @ = 1, 2, 3 & 4).

TF 91 & foU TR U WA = 4 x 7 1 gen 21 9t vRmg el
9o & o9 ey W fFER #{, §t P = da gW fm mm #

I TEEM F fou T e E@ifEn (a=1,2 3 3K 4 )

Alternate Question for Visually Challenged students in lieu of
Q. No. 31

mmg1ﬂ;;ﬂﬁﬂ?mw#mmml

31. During a mass drill exercise, 6250 students of different schools are

arranged in rows such that the number of students in each row is
equal to number of rows. In doing so, the instructor finds out that
9 children are left out. Find the number of children in each row of

the square.
& wfes aE & A, fafi el & 62650 wet #1 ol 4 5w
ww § wEhem A S & R oTEE W eEl @ wen v
m#mﬁ%rmﬁﬂ._wﬁwmﬁﬁgm
EgmgfaﬁﬁmwﬁmﬁmmTMamﬁmu
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Section-V (TE-V)
(Case Study) (& e )

36.

Dev and Manu are hosting a healthy Burger Party for their respective
friends. They went to a Burger shop. The shopkeeper told them

that the cost of each wheat burger is ¥ 100 but they can get 1 burger
free on purchase of every 4 such burgers.

Dev needs 12 burgers and Manu needs 23 burgers.

Based on above information, answer the following questions :

1. How much amount did Dev pay to the shopkeeper ? (1)
2. How much amount did Manu pay to the shopkeeper? (n

3. If they shop together, how much money they have to pay’ Find
the percentage of discount they got in the deal.

OR

If each burger cost T 60 to the shopkeeper, find the PO

percent earned by him when Dey ang Manu bought the burge’
separately. @

= e i




37.

3 SR W] -3 S & fAU uw ¥ Wi wd w1 amem W O®
81 3 TF TR # A W M qHRER A 37 gaw fF ydE T F A
I HEA 100 T 2 AFF F W AN TR F @R W @ TR AW
T wEd Bl 3 W 12 wR =fer sk mg @ 23 wR =@

Mﬁwﬁﬁaﬂmmﬁmﬁﬁﬁwﬁﬁawﬁm—

- (1) %@ 7 TFER H fEaR o wm gmm e

(2) 73 7 THEER H fwmed vf w1 ogmm fEa

(3) % 3 & WY WA w@ ¢, o 3% fee ofn T IR G- A
3% fugelt g2 *1 wfovm ¥+
( oTerar)

aft w&F R F KA FHEER F 60 T P, W 3| @R WY gN
 AE-FA W @hEd W e Wfoed | St

Vallam Kali (Boat race) is conducted during the season of the
harvest festival Onam in Autumn. Vallam Kali includes races of

231




many kinds of traditional paddled long boats of K‘erala. During o,
such race a boat goes downstream and covers a distance of 4 hg,
while it covers the same distance upstream in 5 hours. If the Speeq
of the stream is 3 km/hr, then based on the above inf'ﬂrmatiun, 1

answer the following questions :
(i) By taking speed of boat x km/hr, find the speed of boat going

downstream and upstream.

(i) Write an algebraic expression that can be used' to find distane,
travelled while going downstream.
(ili) Find the speed of the boat in still water.
OR
Find the total distance covered in the whole journey,

T Feelt (T9 W) TR *Y F w00 IwE AW F dw &
mﬁﬁaﬁmﬁrwaﬁﬁﬁmaﬁﬂmﬁw@ﬁmﬁwm
TE T T F A A Wi w4 o @ o Y e
mnﬁaawwm%aﬁuﬁ%ﬁ{ﬂﬁam%m%ﬁmﬁ{ﬂw
v T 5 A m wd b AR W w3 e 3
mm#wwﬁﬁﬁ#ﬁaﬁm%mﬁm—



|

200 cm >
42 cm
— 200 em >

Q O
OOO S

/
&

(3

Akshara is very fond of gardening. She placed two metallic pipes in
her garden (open on both sides) one cylindrical and another cuboidal.

She got 10-10 circular pieces taken out from each pipe so that she
can put saplings in them.

The dimensions are as follows :

Cylindrical pipe : Length = 200 cm, Diameter = 42 cm
Cuboidal pipe : Length = 200 cm x 42 em x 42 cm
Circular piece : Radius = 3.5 cm

Based on above information answer the following :

(i) Find the area of the metallic sheet taken out from each pipe
to make holes. (1)

(ii) Find the volume of the sand filled in cuboidal pipe. (1)

(iii) Find the surface area of cuboidal pipe after the circular pieces
have been taken out.

OR
Find the surface area of cylindrical pipe after the circular
pieces have been taken out. (2)
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Lif
L Ie il 4

Ll i 1 IIl‘ll

“wﬁwwmwmmmmeHﬂmﬁmﬂﬁ

T @ ) @ ¥, Ao S gE | e T 10-10 TireEHT
8 A T d @ Frew afe 9w T A T F
famd @ weRr #-

YTHER EY A = 200 ., =W 42 T

TN WEY : 200 ¥, x 42 T x 42 G

TR gwe - e = 3.5 WL

IR SEER F SR W fefafad s & 3w -

(1) 3% ¥R & fag freeht @ uig F e &1 &F%a J@ HiwQ
(2) 519 Y H 9O W F AT T R
(3) MEFR IHFE FrAeH F AR TN TEY H qSE S5%d F@ S

( aTgar)

TR s Fromert & A Yer T 7 dwe i
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